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For numbels 1 -2, wnte an exphc;t andar ecu;swe eqmt;on and then an‘m er the questmn

~ The value of a stock when purcha%(i was $20 a Shdiﬁ, The stodx grew ata. yeaily rate of 8%. What is
the value of the stock after 15 yearsO ~

' f(x)w ‘_‘ZQ‘@( ?Og)x . . Va}ue ofstouk after 15 ycars 63 14 L .

R oy )\08‘):
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‘ The Value ofa stock when purchaged is§s55a share The stock decrcased at arate of 4% ;
L ~ yearly How many years did it take for the stock to be worth $20 65‘?

2y

- o f(\c) = 5 S ( %) o Number of years untﬂ the stock reaches $20 6‘5
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. ? s Coftee ted and some soft. dnnks centam the drug caffeme One hour after maestlon 65% 01 the o

“or}gmal amount of caffeine remains. At the end of each hom after that, 65% of the amount at the
begmmn g of the hour remai ns. Suppose a person consumes 30 mﬂhﬁrams of gaffeme -

The equatlon y 30(0 65) represents this 31‘{uat10n

- a How much ca.ﬂ”eme wouid remam after 2 5 hours‘?
| Amount()fcaﬂeine rén;iainiéig.“ = (0.2 ‘7
30( gg)
b.  Estimate when 6 mg of mifunc remains.
Time when 6 mg of caffeine remain: 3.9 g hovrs

{7 O{Wé‘}‘}x

c. Set up and solve an equation to find the half-life of the drug caffeine.
e es0les)" xoe lo6] hours
d. Describe the possible domain and range of this situation.

Domain — % 2 ¢

Range— ¢ .< y 4 30



4, Geoff and his friend Sandra were completing an M&M activity in Math 1 class where they were
collcctmg data by counting the remammg M&M s. Graph their data that is listed in the below chart:
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a. Find the linear reoressmn equatmn the models Geoff and Sandra s data Round to the nearest

[ hundredth
y— é d)?i\/ - D 0“]&

b : 'Usmg your hnear regresswn predlct the number of M&M S you would have aﬂer 12 trials.

o , 6/’1‘65:(17) on}f; 79 lf{( f_a' ,.\,3,,“5’,,"'
¢ Fmd the exponentlal regressxon equation the models Geoff and Sandla S data Round to the '
 nearest hundredth. , ,
, | b 7’53&'(151#]

d Usmg your exponentlai reg,ressmn predlct the numbcz of M&M s you would haw after 12 malsl '

3 ’3:2( >”U 7W é:; /VMQL/:@V \

e Wl}l yom pledlctlon usmg the lmear regrcsswn cquat;«)frm*ﬂmiﬁ"ponentl ;l regrcssmn
, equatmn bea bettu reprusentatlon of the number of M&M s after 12 tnals? Explazn w/zy///
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5, Two exponential growth and dccay situation are reprcsented by Gldphs I and 11 and also by Tables A |
and B. For each graph, there is a matching table.

a. Wfite the number of the graph besidc its corresponding table.

l “The rule for Graph 1i in Part ais of the form y = a( b)*. Will bbe }(:sé than 1 or greater than 17
Fxplam your amwe; ~ : . e

;,l&

~ ‘Explanatfbh : — L o
Tl rpcsen iy sy are by n pnad
; 2ty ‘ ~
v, Stan can figure out how much money he has in ihe bank by usmg the foilowmg formula

M 3200(1 045) (x stands for yeaxs and M stands for money}
i, How much money d1df Stan’ initially deposit ~in‘£heb‘ank?ﬂ
¥ 3200
L What is the émeres’é rate of the acco‘uni‘?“
‘ o,
4.5
iii.© How much money will Stan have in 20 years?
¥
77]7.4%
iv. When will Stan’s bank account reach about $10,0507
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.. Describe the possible domain and range of this situation,
Domain~ © 1,2
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Range ~ Sape 39vy 44,y yq
%, ﬁg&/j@é‘ < Vi 794, 4
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7 What is the percent of decay modeled by the cquanon y 32(0 65)

Percent of decav Q ?5’ /a

| . 8. ';fWhat:'i's the :perc'er‘),tc:)f growth modeled by the cqudtxon V= 2(1065)x ; = .

- .") S"

. '2(1 025) . y 2(1+O25)x y 2(1+025)

o f‘(,zrcle your answer

y 2(2)




